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1. [bookmark: _Toc122434488][bookmark: _Toc295288959][bookmark: _Toc75285055]Corrections required
0.1 [bookmark: _Toc75285056]Correction to function fl_TC_7_1_2_3_3and4
	Function name
	fl_TC_7_1_2_3_3and4

	Reason for change
	In the current TTCN implementation of 7.1.2.3.3/4, 7.1.3.1.1/2 Initialization of v_TimingPreviousSlot is done after the transmission of each PDU List, instead it is proposed to initialize v_TimingPreviousSlot at the beginning, then v_TimingPreviousSlot is set with v_TimingCurrentSlot after the reception of PDU List in each iteration

	Summary of change
	Initialize v_TimingPreviousSlot at the beginning, then v_TimingPreviousSlot is set with v_TimingCurrentSlot after the reception of PDU List in each iteration 

	TTCN module
	RLC_TC_Common_NR

	MCC160 Comment
	



Before Change:
	function fl_TC_7_1_2_3_3and4(NR_RLC_SS_State_Type p_RLC_Rec,
                               DRB_Identity p_NR_DRB_Id,
                               integer p_OuterLoop,
                               integer p_InnerLoop) runs on NR_BASE_PTC
  {
    var integer v_RLC_SDUsize; //@sic R5s190358 sic@
    var B1_Type v_Poll;
    var integer i;
    var integer v_ListOffset:=0; // @sic R5s210579 sic@
    var integer j;
    var template (value) NR_RLC_AMD_PDU_Type v_NR_RLC_AMD_PDU;
    var template (present) NR_RLC_AMD_PDU_Type v_NR_RLC_AMD_PDU_Expected;
    var integer v_VerdictFilter; // @sic R5-185083 sic@
    var NR_RLC_DataFieldList_Type v_NR_RLC_DataList;
    var NR_RLC_AMD_PDU_Type v_NR_RLC_AMD_PDU_Received;
    var NR_L2DataList_Type v_NR_L2DataList;
    var integer v_LenPDUList;
    var template (value) NR_RLC_PDUList_Type v_RlcPduList; // @sic R5-213460  sic@
    var SubFrameTiming_Type v_TimingCurrentSlot; // @sic R5-213460  sic@
    var SubFrameTiming_Type v_TimingPreviousSlot; // @sic R5-213460  sic@
    var integer k;
    
    if (p_RLC_Rec.AM_SN_Size == 18) {
      v_VerdictFilter := 4096; // @sic R5s200315 sic@
    } else { //SN12
      v_VerdictFilter := 256;
    }
    v_RLC_SDUsize := 4; // @sic R5-185083, R5s190358, R5-202613 sic@
    
    // EXCEPTION: Steps 1 - 3a1 shall be repeated from j=0 to j=FLOOR((Maximum_RLC_SN/iteration_size).
    for (j := 0; j < p_OuterLoop; j:= j + 1) { // @sic R5-197663, R5-197664, R5-202613 sic@

    // generate p_InnerLoop  RLC SDUs = PDCP PDUs for transmission
    v_NR_RLC_DataList := fl_NR_GenerateRLC_AM_SDUs(p_RLC_Rec, v_RLC_SDUsize, p_InnerLoop); // list offset is 0, TX_NEXT administered when generating
    
    // put those p_InnerLoop  AMD PDUs into a list for transmission
    v_Poll := tsc_NR_P_NoPoll; // no indication of Poll bit usage in the prose
    for (i := 0; i < p_InnerLoop; i:= i + 1) {
      v_NR_RLC_AMD_PDU := f_NR_RLC_Get_AMD_FullSDU_TX(p_RLC_Rec, v_Poll, v_NR_RLC_DataList[i]);
      v_RlcPduList[i] := {AMD := v_NR_RLC_AMD_PDU}; // @sic R5-202613, R5-213460  sic@
    }

    // @siclog "Step 1" siclog@
    // SS transmits several RLC PDUs in a RLC PDU List, the number of RLC PDUs sent is defined by the iteration_size. Each RLC Data PDU contains one RLC SDU.
    f_NR_RLCPDUList_Send(nr_Cell1,
                         p_NR_DRB_Id,
                         v_RlcPduList);  // @sic R5-213460  sic@

    v_TimingPreviousSlot := f_NR_GetCurrentTiming(nr_Cell1); // initialize slot  @sic R5-213460  sic@

    
    // EXCEPTION: In Step 2, SS shall receive a RLC PDU and step 2 is repeated from SN=j*iteration_size to SN=(((j+1)*iteration_size)-1).
    // @siclog "Step 2" siclog@
    // CHECK: Does UE transmit a RLC Data PDU with SN=0 for the first iteration and then incremented by 1 at each iteration?
    for (i := 0; i < p_InnerLoop; i:= i + 1) { // @sic R5-202613, R5-206326  sic@
   <<< SKIPPED CODE >>>



After Change:
	function fl_TC_7_1_2_3_3and4(NR_RLC_SS_State_Type p_RLC_Rec,
                               DRB_Identity p_NR_DRB_Id,
                               integer p_OuterLoop,
                               integer p_InnerLoop) runs on NR_BASE_PTC
  {
    var integer v_RLC_SDUsize; //@sic R5s190358 sic@
    var B1_Type v_Poll;
    var integer i;
    var integer v_ListOffset:=0; // @sic R5s210579 sic@
    var integer j;
    var template (value) NR_RLC_AMD_PDU_Type v_NR_RLC_AMD_PDU;
    var template (present) NR_RLC_AMD_PDU_Type v_NR_RLC_AMD_PDU_Expected;
    var integer v_VerdictFilter; // @sic R5-185083 sic@
    var NR_RLC_DataFieldList_Type v_NR_RLC_DataList;
    var NR_RLC_AMD_PDU_Type v_NR_RLC_AMD_PDU_Received;
    var NR_L2DataList_Type v_NR_L2DataList;
    var integer v_LenPDUList;
    var template (value) NR_RLC_PDUList_Type v_RlcPduList; // @sic R5-213460  sic@
    var SubFrameTiming_Type v_TimingCurrentSlot; // @sic R5-213460  sic@
    var SubFrameTiming_Type v_TimingPreviousSlot; // @sic R5-213460  sic@
    var integer k;
    
    if (p_RLC_Rec.AM_SN_Size == 18) {
      v_VerdictFilter := 4096; // @sic R5s200315 sic@
    } else { //SN12
      v_VerdictFilter := 256;
    }
    v_RLC_SDUsize := 4; // @sic R5-185083, R5s190358, R5-202613 sic@
    
    v_TimingPreviousSlot := f_NR_GetCurrentTiming(nr_Cell1); // initialize slot  @sic R5-213460  sic@  
    // EXCEPTION: Steps 1 - 3a1 shall be repeated from j=0 to j=FLOOR((Maximum_RLC_SN/iteration_size).
    for (j := 0; j < p_OuterLoop; j:= j + 1) { // @sic R5-197663, R5-197664, R5-202613 sic@

    // generate p_InnerLoop  RLC SDUs = PDCP PDUs for transmission
    v_NR_RLC_DataList := fl_NR_GenerateRLC_AM_SDUs(p_RLC_Rec, v_RLC_SDUsize, p_InnerLoop); // list offset is 0, TX_NEXT administered when generating
    
    // put those p_InnerLoop  AMD PDUs into a list for transmission
    v_Poll := tsc_NR_P_NoPoll; // no indication of Poll bit usage in the prose
    for (i := 0; i < p_InnerLoop; i:= i + 1) {
      v_NR_RLC_AMD_PDU := f_NR_RLC_Get_AMD_FullSDU_TX(p_RLC_Rec, v_Poll, v_NR_RLC_DataList[i]);
      v_RlcPduList[i] := {AMD := v_NR_RLC_AMD_PDU}; // @sic R5-202613, R5-213460  sic@
    }

    // @siclog "Step 1" siclog@
    // SS transmits several RLC PDUs in a RLC PDU List, the number of RLC PDUs sent is defined by the iteration_size. Each RLC Data PDU contains one RLC SDU.
    f_NR_RLCPDUList_Send(nr_Cell1,
                         p_NR_DRB_Id,
                         v_RlcPduList);  // @sic R5-213460  sic@

    //v_TimingPreviousSlot := f_NR_GetCurrentTiming(nr_Cell1); // initialize slot  @sic R5-213460  sic@ 

    
    // EXCEPTION: In Step 2, SS shall receive a RLC PDU and step 2 is repeated from SN=j*iteration_size to SN=(((j+1)*iteration_size)-1).
    // @siclog "Step 2" siclog@
    // CHECK: Does UE transmit a RLC Data PDU with SN=0 for the first iteration and then incremented by 1 at each iteration?
    for (i := 0; i < p_InnerLoop; i:= i + 1) { // @sic R5-202613, R5-206326  sic@
  


0.2 [bookmark: _Toc75285057]Correction to function fl_TC_7_1_3_1_1and2
	Function name
	fl_TC_7_1_3_1_1and2

	Reason for change
	1) In the current TTCN implementation of 7.1.3.1.1/2 Initialization of v_TimingPreviousSlot is done after the transmission of each PDU List, instead it is proposed to initialize v_TimingPreviousSlot at the beginning, then v_TimingPreviousSlot is set with v_TimingCurrentSlot after the reception of PDU List in each iteration

2) In the current TTCN implementation of 7.1.3.1.1/2, v_TimingCurrentSlot is set by querying current system time after the reception of PDU List , instead it is proposed to make use of v_NR_DRB_COMMON_IND.Common.TimingInfo.SubFrame field to set v_TimingCurrentSlot

	Summary of change
	1) Initialize v_TimingPreviousSlot at the beginning, then v_TimingPreviousSlot is set with v_TimingCurrentSlot after the reception of PDU List in each iteration 
2) v_TimingCurrentSlot is set with the value received in v_NR_DRB_COMMON_IND.Common.TimingInfo.SubFrame field to set v_TimingCurrentSlot 

	TTCN module
	PDCP_TC_Common_NR

	MCC160 Comment
	



Before Change:
	function fl_TC_7_1_3_1_1and2(NR_PDCP_SS_State_Type p_NR_PDCP_State,
                               integer p_OuterLoop,
                               integer p_InnerLoop) runs on NR_BASE_PTC
  {//@sic R5-211387 sic@
    var NR_SecurityParams_Type v_NR_Security:= f_NR_Security_Get();
    var integer i:=0;
    var integer j:=0;
    var integer k:=0;
    var integer v_NumberOfPdu := p_InnerLoop;
    var integer v_SduSize := 1;
    var NR_PDCP_PDUList_Type v_PdcpPduList;
    var NR_PDCP_SDU_Type v_Sdu := f_GetN_OctetsFromPRBS (20,(v_SduSize));
    var integer v_VerdictFilter; // @sic R5-211387 sic@
    var NR_L2DataList_Type v_NR_L2DataList;
    var NR_PDCP_PDU_Type v_NR_PDCP_PDU_Received;
    var integer v_LenPDUList;
    var integer v_ListOffset:=0; // @sic R5s210579 sic@
    var SubFrameTiming_Type v_TimingCurrentSlot;
    var SubFrameTiming_Type v_TimingPreviousSlot;
    var template (present) NR_PDCP_PDU_Type v_NR_PDCP_PDU_Expected;
    
    p_NR_PDCP_State.KUPenc := v_NR_Security.AS_Ciphering.KUPenc;

    if (p_NR_PDCP_State.PDCP_SN_Size == PDCP_SNLength18) {
      v_VerdictFilter := 4096; // @sic R5-211387 sic@
    } else { //SN12
      v_VerdictFilter := 256;
    }
    
    // EXCEPTION: : Steps 1 - 2 shall be repeated from j = 0 to j = FLOOR(Maximum_PDCP_SN/iteration_size). (Note 1, 4)
    for (j := 0; j < p_OuterLoop; j:= j + 1) { // @sic R5-197663, R5-197664, R5-202613 sic@
     //@siclog "Step 1" siclog@
     // SS transmits in one slot several PDCP PDUs in a PDCP PDU list without header compression, the number of PDCP PDUs sent in each PDCP PDU list is defined by the iteration_size. (Note 4, 5).
      v_PdcpPduList := f_GeneratePdcpPDUList(p_NR_PDCP_State, v_NumberOfPdu,v_Sdu);
      f_NR_PDCPPDUList_Send(p_NR_PDCP_State,nr_Cell1,v_PdcpPduList);
      v_TimingPreviousSlot := f_NR_GetCurrentTiming(nr_Cell1); // initialize slot  @sic R5-213462  sic@
      
    // EXCEPTION: In Step 2, SS may receive a PDCP PDU or several PDCP PDUs, then step 2 may be repeated multiple times until all PDCP PDUs with SN=j*iteration_size to SN=(((j+1)* iteration_size)-1) for each iteration are received.
    // @siclog "Step 2" siclog@
    // CHECK: Does UE transmit PDCP PDUs with SN=0 for the first iteration and all PDCP PDUs for each iteration?(Note 2)(Note 6) // @sic R5-213462 sic@
    for (i := 0; i < p_InnerLoop; i:= i + 1) { // @sic R5-211387 sic@
      // Get next list of PDCP PDUs received
      v_NR_L2DataList := f_NR_PDCP_PDU_GetList(p_NR_PDCP_State); // @sic R5-211387 sic@
      v_TimingCurrentSlot := f_NR_GetCurrentTiming(nr_Cell1); // Note timing of the slot of the list received @sic R5-213462  sic@
      f_NR_SubFrameTiming_DifferentSlots (v_TimingCurrentSlot, v_TimingPreviousSlot); // both slots must be different @sic R5-213462  sic@
      v_TimingPreviousSlot := v_TimingCurrentSlot; // Keep the info on the present slot @sic R5-213462  sic@
      v_LenPDUList := lengthof(v_NR_L2DataList.PdcpPdu);
      v_ListOffset := i; // note i at start of PDU list @sic R5s210579 sic@
      for (k := 0; k < v_LenPDUList; k := k + 1) {
        // set i to account for k
        i := v_ListOffset + k; // @sic R5-213462 R5s210579 sic@
        if (i == p_InnerLoop) {f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 2, too many PDCP PDUs received");}; // check ok ???
        // extract the PDCP PDU to be handled
        v_NR_PDCP_PDU_Received := v_NR_L2DataList.PdcpPdu[k];
        // build the PDCP PDU expected (template)
        v_NR_PDCP_PDU_Expected := v_PdcpPduList[i]; // ith element in the currently used v_PdcpPduList
        // match the PDCP PDU to be handled against the PDCP PDU expected
        if (not match (v_NR_PDCP_PDU_Received, v_NR_PDCP_PDU_Expected)) {
          f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 2, mismatch of received and expected PDUs");
        };

        if ((i == 0) and (j == 0)) { // SN = 0
          f_NR_PreliminaryPass(__FILE__, __LINE__, " SN=0 ");
        }
        else { // SN = 1 ..
          if ((((j * p_InnerLoop) + i + 1) mod v_VerdictFilter) == 0) {f_NR_PreliminaryPass(__FILE__, __LINE__, " SN = " &  int2str((j * p_InnerLoop) + i) )}; // @sic R5-185083, R5-187106, R5s200315, R5s200957 sic@
        }
      }
     }
    }
     //@siclog "Step 3" siclog@
    // SS transmits a PDCP PDU containing one PDCP SDU without header compression.
    f_NR_PDCP_Send(p_NR_PDCP_State, nr_Cell1, v_Sdu);
    //@siclog "Step 4" siclog@
    // CHECK: Does UE transmit a PDCP PDU with SN=0?
    f_NR_PDCP_Recv(p_NR_PDCP_State, nr_Cell1, v_Sdu, cr_RlcBearerRouting_NR(nr_Cell1));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 4");

    //@siclog "Step 5" siclog@
    //SS transmits a PDCP PDU containing one PDCP SDU without header compression.
    f_NR_PDCP_Send(p_NR_PDCP_State,nr_Cell1, v_Sdu);
    //@siclog "Step 6" siclog@
    //CHECK: Does UE transmit a PDCP PDU with SN=1?
    f_NR_PDCP_Recv(p_NR_PDCP_State, nr_Cell1, v_Sdu, cr_RlcBearerRouting_NR(nr_Cell1));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 6");
    
  }



After Change:
	function fl_TC_7_1_3_1_1and2(NR_PDCP_SS_State_Type p_NR_PDCP_State,
                               integer p_OuterLoop,
                               integer p_InnerLoop) runs on NR_BASE_PTC
  {//@sic R5-211387 sic@
    var NR_SecurityParams_Type v_NR_Security:= f_NR_Security_Get();
    var integer i:=0;
    var integer j:=0;
    var integer k:=0;
    var integer v_NumberOfPdu := p_InnerLoop;
    var integer v_SduSize := 1;
    var NR_PDCP_PDUList_Type v_PdcpPduList;
    var NR_PDCP_SDU_Type v_Sdu := f_GetN_OctetsFromPRBS (20,(v_SduSize));
    var integer v_VerdictFilter; // @sic R5-211387 sic@
    var NR_L2DataList_Type v_NR_L2DataList;
    var NR_PDCP_PDU_Type v_NR_PDCP_PDU_Received;
    var integer v_LenPDUList;
    var integer v_ListOffset:=0; // @sic R5s210579 sic@
    var SubFrameTiming_Type v_TimingCurrentSlot;
    var SubFrameTiming_Type v_TimingPreviousSlot;
    var template (present) NR_PDCP_PDU_Type v_NR_PDCP_PDU_Expected;
    
    p_NR_PDCP_State.KUPenc := v_NR_Security.AS_Ciphering.KUPenc;

    if (p_NR_PDCP_State.PDCP_SN_Size == PDCP_SNLength18) {
      v_VerdictFilter := 4096; // @sic R5-211387 sic@
    } else { //SN12
      v_VerdictFilter := 256;
    }
    v_TimingPreviousSlot := f_NR_GetCurrentTiming(nr_Cell1); // initialize slot  @sic R5-213462  sic@ 

    // EXCEPTION: : Steps 1 - 2 shall be repeated from j = 0 to j = FLOOR(Maximum_PDCP_SN/iteration_size). (Note 1, 4)
    for (j := 0; j < p_OuterLoop; j:= j + 1) { // @sic R5-197663, R5-197664, R5-202613 sic@
     //@siclog "Step 1" siclog@
     // SS transmits in one slot several PDCP PDUs in a PDCP PDU list without header compression, the number of PDCP PDUs sent in each PDCP PDU list is defined by the iteration_size. (Note 4, 5).
      v_PdcpPduList := f_GeneratePdcpPDUList(p_NR_PDCP_State, v_NumberOfPdu,v_Sdu);
      f_NR_PDCPPDUList_Send(p_NR_PDCP_State,nr_Cell1,v_PdcpPduList);
      //v_TimingPreviousSlot := f_NR_GetCurrentTiming(nr_Cell1); // initialize slot  @sic R5-213462  sic@ 
      
    // EXCEPTION: In Step 2, SS may receive a PDCP PDU or several PDCP PDUs, then step 2 may be repeated multiple times until all PDCP PDUs with SN=j*iteration_size to SN=(((j+1)* iteration_size)-1) for each iteration are received.
    // @siclog "Step 2" siclog@
    // CHECK: Does UE transmit PDCP PDUs with SN=0 for the first iteration and all PDCP PDUs for each iteration?(Note 2)(Note 6) // @sic R5-213462 sic@
    for (i := 0; i < p_InnerLoop; i:= i + 1) { // @sic R5-211387 sic@
      // Get next list of PDCP PDUs received
      v_NR_L2DataList := f_NR_PDCP_PDU_GetList(p_NR_PDCP_State,v_TimingCurrentSlot); // @sic R5-211387 sic@ 
      
      //v_TimingCurrentSlot := f_NR_GetCurrentTiming(nr_Cell1); // Note timing of the slot of the list received @sic R5-213462  sic@ 
      f_NR_SubFrameTiming_DifferentSlots (v_TimingCurrentSlot, v_TimingPreviousSlot); // both slots must be different @sic R5-213462  sic@
      v_TimingPreviousSlot := v_TimingCurrentSlot; // Keep the info on the present slot @sic R5-213462  sic@
      v_LenPDUList := lengthof(v_NR_L2DataList.PdcpPdu);
      v_ListOffset := i; // note i at start of PDU list @sic R5s210579 sic@
      for (k := 0; k < v_LenPDUList; k := k + 1) {
        // set i to account for k
        i := v_ListOffset + k; // @sic R5-213462 R5s210579 sic@
        if (i == p_InnerLoop) {f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 2, too many PDCP PDUs received");}; // check ok ???
        // extract the PDCP PDU to be handled
        v_NR_PDCP_PDU_Received := v_NR_L2DataList.PdcpPdu[k];
        // build the PDCP PDU expected (template)
        v_NR_PDCP_PDU_Expected := v_PdcpPduList[i]; // ith element in the currently used v_PdcpPduList
        // match the PDCP PDU to be handled against the PDCP PDU expected
        if (not match (v_NR_PDCP_PDU_Received, v_NR_PDCP_PDU_Expected)) {
          f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 2, mismatch of received and expected PDUs");
        };

        if ((i == 0) and (j == 0)) { // SN = 0
          f_NR_PreliminaryPass(__FILE__, __LINE__, " SN=0 ");
        }
        else { // SN = 1 ..
          if ((((j * p_InnerLoop) + i + 1) mod v_VerdictFilter) == 0) {f_NR_PreliminaryPass(__FILE__, __LINE__, " SN = " &  int2str((j * p_InnerLoop) + i) )}; // @sic R5-185083, R5-187106, R5s200315, R5s200957 sic@
        }
      }
     }
    }
     //@siclog "Step 3" siclog@
    // SS transmits a PDCP PDU containing one PDCP SDU without header compression.
    f_NR_PDCP_Send(p_NR_PDCP_State, nr_Cell1, v_Sdu);
    //@siclog "Step 4" siclog@
    // CHECK: Does UE transmit a PDCP PDU with SN=0?
    f_NR_PDCP_Recv(p_NR_PDCP_State, nr_Cell1, v_Sdu, cr_RlcBearerRouting_NR(nr_Cell1));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 4");

    //@siclog "Step 5" siclog@
    //SS transmits a PDCP PDU containing one PDCP SDU without header compression.
    f_NR_PDCP_Send(p_NR_PDCP_State,nr_Cell1, v_Sdu);
    //@siclog "Step 6" siclog@
    //CHECK: Does UE transmit a PDCP PDU with SN=1?
    f_NR_PDCP_Recv(p_NR_PDCP_State, nr_Cell1, v_Sdu, cr_RlcBearerRouting_NR(nr_Cell1));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 6");
    
  }



0.3 [bookmark: _Toc75285058]Correction to function f_NR_PDCP_PDU_GetList
	Function name
	f_NR_PDCP_PDU_GetList

	Reason for change
	In the current TTCN implementation of 7.1.3.1.1/2, v_TimingCurrentSlot is set by querying current system time after the reception of PDU List , instead it is proposed to make use of v_NR_DRB_COMMON_IND.Common.TimingInfo.SubFrame field to set v_TimingCurrentSlot

	Summary of change
	 v_TimingCurrentSlot is set with the value received in v_NR_DRB_COMMON_IND.Common.TimingInfo.SubFrame field to set v_TimingCurrentSlot – to achieve this the below function is introduced with the second parameter which outputs the time in which PDCP PDU list is received

	TTCN module
	PDCP_TC_Common_NR

	MCC160 Comment
	



Before Change:
	function f_NR_PDCP_PDU_GetList(NR_PDCP_SS_State_Type p_NR_PDCP_State)
    runs on NR_BASE_PTC return NR_L2DataList_Type
  { // @sic R5-211387 R5s210395 sic@
    var NR_DRB_COMMON_IND v_NR_DRB_COMMON_IND;
    var NR_L2DataList_Type v_NR_L2DataList;

    DRB.receive(car_NR_DRB_COMMON_IND_PDCP_PDUList(nr_Cell1,
                                                   p_NR_PDCP_State.DRB_Id)) -> value v_NR_DRB_COMMON_IND;
    v_NR_L2DataList := v_NR_DRB_COMMON_IND.U_Plane.SlotData.PduSduList;
    return v_NR_L2DataList;
  }



After Change:
	  function f_NR_PDCP_PDU_GetList(NR_PDCP_SS_State_Type p_NR_PDCP_State,
                                 out SubFrameTiming_Type p_TimingCurrentSlot) 
    runs on NR_BASE_PTC return NR_L2DataList_Type
  { // @sic R5-211387 R5s210395 sic@
    var NR_DRB_COMMON_IND v_NR_DRB_COMMON_IND;
    var NR_L2DataList_Type v_NR_L2DataList;

    DRB.receive(car_NR_DRB_COMMON_IND_PDCP_PDUList(nr_Cell1,
                                                   p_NR_PDCP_State.DRB_Id)) -> value v_NR_DRB_COMMON_IND;
    v_NR_L2DataList := v_NR_DRB_COMMON_IND.U_Plane.SlotData.PduSduList;
    p_TimingCurrentSlot := v_NR_DRB_COMMON_IND.Common.TimingInfo.SubFrame;  
    return v_NR_L2DataList;
  }





